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GUESS PAPER - 2010
Class - XII
SUBJECT – Chemistry

Organic Reasoning
Give reasons:
1Acid catalyzed dehydration of t-butanol is faster than that of n-butanol.

2Propanol, unlike propane is soluble in water.

3When t-butanol and n-butanol are separately treated with a few drops of dilute KMnO4, in one case only purple colour disappears and a brown ppt is formed. Which of the two alcohols give above reaction and what is brown ppt?

4The solubility of alcohols decreases with increase in molecular weight.

5t-butyl alcohols react less rapidly with metallic sodium than the primary alcohol.

6 Alcohols cannot be used as solvent for Grignard reagent.

7The boiling point of three alcohols is in the order.

                         n-butyl alcohol> sec butyl alcohol> t-butyl alcohol        Explain this order

 8  Unlike phenols, alcohols are easily protonated.
9  Unlike phenol, 2, 4-dinitrophenol and 2, 4, 6- trinitrophenol are soluble in aqueous sodium carbonate solution.

10 Alcohols react with halogen acids or phosphorous halides to form Haloalkanes but phenol does not form halobenzenes.

11Account for lower boiling point and decreased water solubility of 0-nitrophenol as compared with their m and p-isomers.

12 Why has phenol higher boiling point than toluene?

13 Why do ethers have lower boiling points than isomeric alcohols?

14 Why do alcohols and isomeric ethers have comparable water solubilities?

15 Boiling point of acetone is 329K while that of propanal is 322 K although both have the same molecular mass.  

16Why are nucleophilic addition reactions of carbonyl compounds catalyzed by protonic acids?
17 When aryl alkyl ether is cleaved with halogen acid one of the product is always phenol.

18 Anisole cannot be prepared by treating Bromobenzene with sodium methoxide?

19 Sodium metal can be used for drying diethyl ether but not for ethanol.

20Boiling point of tertiary alcohols is less than that of secondary alcohols.

21 Boiling point of butanol is greater than propanol.

22Solubility of tertiary hexanol is greater than normal hexanol.

23 Ethers have net dipole moment.

24 Diethyl ether behaves as a Lewis base.
25 Alcohols are acidic in nature.

26 Alcohols act as Bronsted bases as well.

27Ortho and paranitrophenols are more acidic than phenols whereas cresols are less acidic than phenols.

28Phenols do not undergo reactions involving cleavage of COH bond.

29Preparation of C2H5Cl is preferred with SOCl2 rather than PCl5 and PCl3.
30 Oxidation of toluene with CrO3 to Benzaldehyde is carried out in presence of acetic anhydride

31Although Aldehydes are easily oxidisable yet propanal can conveniently be prepared by the oxidation of propanol by acidic dichromate.

32In the preparation of acetaldehyde from ethanol by oxidation, it is distilled out as it is formed.

33Formation of oximes and other ammonia derivatives from carbonyl compounds require slightly acidic medium for maximum rate. 

34Benzaldehyde does not undergo aldol condensation whereas acetaldehyde does.

35 Protic acids, Lewis acids and bases all activate carbonyl group.

36 Lower carboxylic acids have pungent smell whereas higher carboxylic acids are odourless.
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37The boiling point of carboxylic acids is higher than Aldehydes and ketones and even alcohols of comparable molecular mass.

38 (-Hydrogen in Aldehydes is acidic in nature.

39Aldehydes are more reactive than ketones for nucleophilic addition reactions.

40 Nucleophilic addition in Aldehydes is accelerated by electron withdrawing group while it is retarded by electron donating group.

50 Boiling points of aldehydes lie between parent alkanes and corresponding alcohols.

51 Aldehydes and ketones have high dipole moments.

52 NaHSO3 is used for the purification of aldehydes and ketones.

53 Iodoform is obtained by the reaction of acetone with hypoiodite but not with iodide.

54 Hydrazones of aldehydes and ketones are not prepared in highly acidic medium.
55Why are amines basic in nature?

56Ethylamine is more basic than aniline. 

57Amines are more basic than amines.

58Tertiary amines have lowest boiling point of a group of isomeric amines.

59Silver chloride is soluble in methylamine.

60Dimethylamine is a stronger base than trimethylamine.

61The boiling point of ethylamine is 170C whereas that of diethyl amine is 7.40C.

62Aniline does not undergo Friedel crafts reaction.

63Aniline is always acetylated before nitration with acid mixture.
64Explain why CH2=CHCl does not undergo substitution either by SN1or SN2 mechanism?

65Explain why, alkyl chlorides and allyl chloride give a precipitate of AgCl on heating with alcoholic AgNO2, whereas vinyl chloride does not

66Why do alkyl halides show nucleophilic substitution rather than electrophilic substitution?

67 Chlorobenzene disfavors a nucleophilic attack both by SN1or SN2 mechanism. Why?
68 Cyclohexanone forms cyanohydrin in good yield but 2, 2, 6 trimethyl Cyclohexanone does not.

69There are 2 NH2 groups in semicarbazide however only one is involved in the formation of semicarbazones.

70During the preparation of esters from carboxylic acid and an alcohol in the presence of an acid catalyst, the water or the ester should be removed as fast as it is formed.
71 Why is chloro acetic acid stronger than acetic acid?

72 Aldehydes behave like polar compounds.
 73 Aldehydes have lower boiling point than corresponding alcohols.
74 Acetic acid is a stronger acid than ethyl alcohol.

75 Trichloroacetic acid is a stronger acid than acetic acid.

76 Formic acid shows reducing properties.

77Carboxylic acids with five or fewer carbon atoms are water soluble but, higher ones are insoluble.

78 Acetic acid can be halogenated in the presence of phosphorous and chlorine but formic acid cannot be halogenated in the same way.

79 Highly branched carboxylic acids are less acidic than unbranched acids.

80 Ethanal is more reactive towards nucleophilic addition reactions than propanone.

81HCHO reacts with HCN faster than CH3CHO.

82 Acetaldehyde gives aldol condensation while formaldehyde does not.

83 Ethanoic acid is highly soluble in water but hexanoic acid is only slightly soluble.

84 A carboxylic acid does not form an oxime although there is present a carbonyl group in carboxylic functional group.

85Though halogens are electron withdrawing groups, still they give ortho and para substituted products.
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